
§·¤æ§ü / Unit-I

1. ÖæÚUÌèØ ØæðÁÙæ¥æð´ ·¤è ©UÂÜçµÏØæð´ °ß¢ ¥âÈ¤ÜÌæ¥æð´
·¤è ÃØæBØæ ·¤èçÁ°Ð

Discuss the achievements and failures of
Indian plans.

¥Íßæ / OR
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ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð ´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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Òâ¢âæÏÙæð´ ·¤è »çÌàæèÜÌæÓ âð ¥æÂ @Øæ â×ÛæÌð
ãñ´U? ÖæÚUÌèØ çÙØæðÁÙ ×ð´ â¢âæÏÙæð´ ·¤è »çÌàæèÜÌæ
·¤æ @Øæ ×ãUˆß ãñU?

What do you mean by ‘Mobility of
Resources’ ? What is the significance of
mobility of resources in Indian Planning ?

§·¤æ§ü / Unit-II

2. ·¤æÜü ×æ@âü ·ð¤ çß·¤æâ ×æòÇUÜ ·¤æ ¥æÜæð¿Ùæˆ×·¤
ÂÚUèÿæ‡æ ·¤èçÁ°Ð

Examine critically the growth model of Karl
Marx.

¥Íßæ / OR

·¤è‹â ·ð¤ ¥æçÍü·¤ çß·¤æâ ×æòÇUÜ ·¤è ÃØæBØæ
·¤èçÁ°Ð

Explain Keynesian model of economic
development.

§·¤æ§ü / Unit-III

3. ¥æçÍü·¤ ßëçh ·ð¤ ÚðUçÙâ °ß¢ È¤æ§ü ×æòÇUÜ ·¤è ÃØæBØæ
·¤èçÁ°Ð

Explain Ranis and Fei model of economic
growth.

¥Íßæ / OR

( 2 )
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ÜèçÕ‹SÅUèÙ ·ð¤ Ò·ý¤æç‹Ì·¤-‹ØêÙÌ× ÂýØæâ çâhæ‹ÌÓ
·¤è ¥æÜæð¿Ùæˆ×·¤ ÃØæBØæ ·¤èçÁ°Ð

Explain critically the theory of ‘Critical
minimum effort thesis’ of Leibenstein.

§·¤æ§ü / Unit-IV

4. ç×ÇüUÜ ·¤æ ¿·ý¤èØ ·¤æØü-·¤æÚU‡æ çâhæ‹Ì ·¤æ
¥æÜæð¿Ùæˆ×·¤ ÂÚUèÿæ‡æ ·¤èçÁ°Ð

Examine critically Myrdal’s theory of circular
causation.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) â‹ÌéçÜÌ çß·¤æâ ·ð¤ ÂýÖæß

(b) ¥â‹ÌéçÜÌ çß·¤æâ ·¤æ ¥Íü

Write short notes on the following :
(a) Effects of balanced growth
(b) Meaning of unbalanced growth

§·¤æ§ü / Unit-V

5. ¥æçÍü·¤ çß·¤æâ ×ð´ çßçÙØæð» ×æÂÎ‡ÇU ·¤è Öêç×·¤æ
·¤æ ÂÚUèÿæ‡æ ·¤èçÁ°Ð

Examine the role of investment criteria in
economic development.

¥Íßæ / OR



( 4 )
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çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) âæ×æçÁ·¤ âè×æ‹Ì ©UˆÂæÎ·¤Ìæ ×æÂÎ‡ÇU

(b) ·¤æÜŸæð‡æè ×æÂÎ‡ÇU

Write short notes on the following :

(a) Social marginal productivity criterion

(b) Time series criterion
———


